
Mark / 20 %

1) Work out [15]

Informal subtraction
Name: Class: Date:

 

     a)      3 − 1     

     b)      9 − 7     

     c)      20 − 12     

     d)      85 − 72     

     e)      78 − 64     

     f)      91 − 88     

     g)      80 − 27     

     h)      77 − 27 − 17     

     i)      73 − 30 − 14     

     j)      965 − 331     

     k)      561 − 405     

     l)      947 − 397 − 194     

Copyright Mathster.com 2014. Licensed by Your School with permission to redistribute



2)      9 take away 2     

     

[1]

3)      914 take away 589     

     

[1]

4) Use the number line to find the difference between 351 and 784.     

     

784351
 

[1]

5)      64 subtract 14     

     

[1]

6) Use the number line to find the difference between 35 and 59.     

      
5935

 

[1]

     m)      79 − 23 − 6     

     n)      919 − 88 − 186 − 2     

     o)      5066 − 321     
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Solutions for the assessment Informal subtraction

1)  a) 2      b) 2

     c) 8      d) 13

     e) 14      f) 3

     g) 53      h) 77 − 27 − 17 = 33

     i) 73 − 30 − 14 = 29      j) 965 − 331 = 634

     k) 561 − 405 = 156      l) 947 − 397 − 194 = 356

     m) 50      n) 643

     o) 4745 2) 7

3) 325 4) 433

5) 50 6) 24
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